Candidate|Objections. QUESTIO |BATCH Complete Questions Alternative 1 |Alternative 2 [Alternative 3 |Alternative 4 |Objections [Objections Remark |SME Explanation REFERENCE LINK
ID Question N PAPER Correct Objection Type  |VALID /
NAME Alternate INVALID
RRCALP17|RRCELEC120 [RRCSER |1 A TR DI GBI [dRI Bl Il |dR T TId |dRI bl R [dR 18 2 ATl RRTH [ Invalid
69 foriwa @ 22 Pgs  RUARR |WRME | deRiw el UrEy B v, Conduit Wirng
FCHGRT [ 8 gACS (AU § EEREREIG
Nl ﬁ% Y T Sl § Ut ared 1 s the v indieates "Conduit Wiring" mean the wites are enclosed 1 sl
SIG! ST iy ; . e , g
iy pipe koo * Condu” When i condut s coued i enamel s oo
= @ AR ek conduiand e gz i know  alvnisedcondut, o et the
AT ST § pipe i Goroion and st Gamage T WS There e e tys of
condit wirmg mosty i ¢
o) Dasninlad Wi T thia et s tha asadhivts nan imabaddad 4ada tha
RRCALP14|RRCELTR128 |RRCSER What does Ohm’s Law Current is Voltage is Voltage is Current is 3 Voltage is Invalid (vj is directly proportional to current (1) and inversely B
88 state? inversely directly directly directly directly proportional to resistance (R).Reference: "Electrical
proportional [proportional |proportional |proportional proportional to Engineering" by V.K. Mehta, Chapter 2. OR' Ohm's Law
to voltage to current. to current to resistance Current and states the relationship k voltage (V), current (1),
and Resistance and resistance (R) in an electrical circuit. It is
inversely mathematically expressed as:
proportional V=R
to resistance This means:
Voltage (V) is directly proportional to current (1). If the
voltage increases, the current also increases, provided
the resistance remains constant.
Voltage (V) is inversely proportional to resistance (R). If
the resistance increases, the current decreases,
provided the voltage remains constant.
Thus, Ohm's Law expresses that voltage is directly
RRCALP14(RRCELTR123 |RRCSER The primary function of |Store energy |Block DCand |Provide Increase 2 Primary function |[Invalid |pass through due to their reactive impedance.
88 a capacitor in an AC allow AC feedback current of Capacitor in an Reference: "Basic Electrical Engineering" by V.K. Mehta,
circuit is to: AC circuit is to Chapter 9. OR In an AC circuit, a capacitor primarily
store Energy. functions to block DC (direct current) and allow AC
(alternating current) to pass through. This happens
because a capacitor charges up to the DC voltage and
then blocks any further DC current. However, in an AC
circuit, the capacitor continuously charges and
discharges as the current alternates, allowing AC to pass
through.
RRCALP14|RRCELTR106 |RRCSER Which of the following  |AND Gate OR Gate XOR Gate NOR Gate 3 OR Gate also Invalid [Answer: c) XOR Gate
88 logic gates gives an gives an output Explanation: An XOR (exclusive OR) gate gives an output
output of 1 when both of 1 when both of 1 when the two inputs are different.
inputs are different? inputs are Reference: Digital Electronics by B.S. Sonde, Chapter 2.
different https://www.geeksforgeeks.org/xor-gate/
Truth Table
Xemen [vtesn [mommere
0 1
1 o 1
1 ) o
XOR Gate Logic Symbol and Truth Table
RRCALP16|RRCELEC104 [RRC SER qﬁmﬁ 3URaldd|  [GRHI 81T | 31T B ERSIGECHE Wrong entry Invalid |Answer: c) Is halved.Explanation: The voltage
82 P m i W %I foum mar %I %I across the secondary coil is directly proportional
ﬁﬁ'@:ﬂ a T -'-i WZ{T to the ratio of the turns in the primary and

S, ot fgcas pecht o
Qecs: g

secondary coils. If the primary turns are doubled,
the secondary voltage will be halved.

32.7 Violtage Transformation Ratio (K)
Fromequations 1) and (), we get
LW,
L

N




RRCALPO5|RRCMECH116 [RRC SER AR 3l U [Uead [T ESEERGSES In the middle of [Invalid https://bharatskills.gov.i
44 TR i = Iod e |[da A PRI R the piston. :::.smmemmm.,m.wsm.. a— n/pdf/E Books/CTS/15/H
TR i indi/TT/Mechanics20De
sisel%20-%20TT1%20-
RRCALPO5[RRCMECH165 |RRC SER l ToTTTerat fr‘qph B H,Fﬁ ToateT MR Rotary motionin [Invalid |The component used to transmit rotary motion in
44 Wﬁﬂ?ﬂﬁﬁaﬂﬁaﬂ%ﬂ mechanical mechanical systems is typically a shaft. Bearing and |http://103.83.136.203:80
ﬁm@aﬁﬁﬁqw systemis use In pully are the helping component for this type of 2/KDK-
Y IUTNT [T S pully transmission. %20DATA%20CENTER/2.
%? A Textbook of Machine Design by- R. S. Khurmi. 3)%20Knowledge%20Res
Chapter 14. ources%20for%20Library
%20Enrichment/E%20bo
RRCALPO5|RRCMECH113 [RRC SER SI9d 391 & B |Phad 34+ 3[113‘%{:{ Fe T |[Fad gar Cylinder during  |Invalid [During the compression stroke of a diesel engine,  |https://books.google.co
44 W%ﬁwmﬁ fiysror the compression air is compressed in the cylinder. m.bd/books?id=UtxI5gX
Ell H'Zﬂfgﬂ ?I?IT %? stroke of a diesel A textbook of internal combustion engine by- R. K. |M1yQC&printsec=frontc
engine Rajput. Page no. 110. overf#fiv=onepage&q&f=fa
compressed in Ise
air fuel mixture
RRCALPOS|RRCMECH127 |RRC SER HOR UGSl Bl AT [gebiH Hcs EREEY I Dlad Single point Invalid |Cobalt serves as a binder between titanium, https://gpmandkola.edu. | https://www.hlc-
44 & fog W—ﬁg?ﬂ?ﬁ EACIER] a cutting tools for tungsten, and tantalum carbide, which make up a in/wp- metalparts.com/news/
aﬁmﬁ Gﬂ'ﬂ?‘ﬁ? machining hard cemented carbide-cutting tool. lCarbide tools are content/uploads/2023/0 |what-are-the-different-
R MWﬁWW metals is used extremely tough and can sustain temperatures up to 4/CONTENT-WT-II-PPT- |cutting-tools-for-lathe-
b ST 82 for high carbon 1000 degrees. ATH-SEM-ME pdf 72989882 htm
steel i .
RRCALPO5|RRCMECH107 |RRC SER WWH@W ﬁa\'ﬂﬁ ERrrikavi aa%ﬁﬂ ERSNRIE] Work are circlip |Invalid |Circlip pliers are used for fitting and removing https://rnsinstituteoftec
44 IfPgveR S I A |RITTT ‘e:‘d?{éﬂ%m pliers primarily circlips in assembly works. hnology.org/wp-
Wmﬁﬁ%’ used in electrical content/uploads/2021/0
installation. i el 7/Theory-1st-
g Semester.pdf
RRCALP11|RRCELEC160 [RRC SER Which of the following is |Cleaning of [Replacing  [Ignoring Disconnecting TdT O BT [invalid  [Answer: Cleaning of contact points. Explanation:
59 a key part of regular contact fuses without |signs of wear | circuits for G GG a1 3T Regular cleaning of contact points is crucial to maintain
maintenance in electrical |points checking and tear testing Y R o the efficiency and safety of electrical
systems? qga 39 q-r(-f a;‘]' systems.Reference: "Electrical Maintenance and
HET Calibration" by A.K. Sharma, Chapter 10.
TR I9F TG
€ gu vl ot
I TG THTE
FR THA & TR
RIESEAEERI]
B FeDT AT
T & M
EERRICEIL)
S gl e
et urd &t
T TS &
RRCALP11|RRCELEC119 |RRCSER What is another name Cleat Wiring |Conduit Batten Surface CTC AR a1 Invalid
59 for the Tough Rubber Wiring Wiring Wiring TRS IEATET AT - e
Sheathed Wiring system? cleat ATTET AT iii. Tough Rubber Sheathed Wiring (TRS or CTS) or Batten Wiring
U6 & TBR & This wiring also known as batten Wiring system, in which Tough Rubber sheathed
arqﬁ'r[% Gﬁﬁ)‘ o Cab Type sheathed wires are used. The batten is prepared from sezsoned
3T I Batten teakwood. The minimum thickness of batten should not be less than 13 mm. In
artrﬁﬂ domestic wiring normally used width s 13, 19, 25,31, 44 and 50 mun and is suitable
ﬁ W%qégg for2, 3,45, % and 7 \iir:s, respectively,
T 3T Cleat

qrfaT g




RRCALP11|RRCELEC121 [RRCSER How are the phase wires |Through the |Directly to To the Through fuse (4 ORI DI UED  [Invalid
59 connected in the neutral link  |the energy I.C.D.P. main |links aEfET # 1.c.o.P
domestic wiring system? meter switches switch ka . ) L )
T ST & Gl pipeis used to enclw.m the service cable. This pies fixed on the wall, with
s m the help of saddles, ggllls gnd Vooden sres ]Hd. it should be so sc]sctcd [?.:tl
: the weatherproof cable i easily pulled intothe pipe without damage o the insulation
JERIN el The senie cale i ce o e e g o e pie
B A of the ca c.TQemma .hm\.e‘oer.ler he building through the pipe an
R % s comects the main board for connecting the Lhr‘ac-plmse.cnerg meter. The 0uI‘:u|
of the energy meter is controlled through the L.C.T.P. main switch. The phase wires
fuse T gofT are conneged th fuse [inks whereas the neutral wire is directly connected to the
A ® P neutral link. The output of this LC.T.P. main switch (one phase and neutral) s
RN &nﬁﬁ distributed through the single-phase [C.D.P. main switches, which acts as main
REEREIEE control switch for a room or for a power point,
o ST &
R fuse 38
ElGIERSIRL
ST W fuse
I & T
et 81 3fe
DT FE IR
1.C.D.P switch T
T foar St
BN answer
RRCALP18|RRCELTR13 RRC SER 12 22 11 24 2 Minimum Invalid  [If n=1, then the value of equation is 22.
74 multiple number If n=2, then the value of equation is 1672.
is11 If n=3, then the value of equation is 97966.
All values are divisible by 22 so the equation is the
multiple of 22 for all integer values of n.
RRCALP14|RRCELTR82 RRC SER The product of the mass |Momentum |Force Power Energy 1 in english is given |Invalid [Momentum is a fundamental concept in physics
34 and the velocity is momentum and that quantifies the motion possessed by an object. It
known as ? hindi me is defined as the product of an object's mass and
velocity(gati) velocity.The formula to calculate momentum is:
RRCALPO4|RRCMECH168 |RRC SER CNCTHRNA T, G-hle  |HRIH $I Tid |3NoIR 99 |HR1F Jade |fdedd 3mgfd |3 More than Invalid |G-code controls the movement and positioning of the | https://www.steckermac
92 e Ffd san %? option are correct tool in CNC machining. hine.com/blog/g-code-
Manufacturing Processes by P.C. Sharma, Chapter 9. and-m-code-
programming#:~:text=Si
mply%20put%2C%20G%
RRCALPO3|RRCMECH146 |RRCSER Which error can occur Parallax error |Reading error | Material Zero error 3 Wrong answer Invalid
09 when a micrometer is deformation Reading error is not the correct answer in this case . .
X i X . https://www.linkedin.co
over-tightened? because reading error refers to mistakes in
interpreting the scale or micrometer reading, often mw
mistakes-people-make-
due to parallax or human error, rather than N N
o . R when-using-micrometer-
mechanical issues caused by over-tightening.
Workshop Practice by Chapman, Chapter 10.
RRCALPO3|RRCMECH166 |RRC SER Which type of strainis  |Tensile strain [Compressive [Shear strain |Bending 1 Given answer Invalid | Tensile strain is the relative length of https://www.sciencedire
09 produced when a strain strain wrong deformation exhibited by a specimen subjected |ct.com/topics/materials-
material is stretched? to a tensile force. science/tensile-
strain#:~:text=Tensile%2
0Ostrain%20is%20the%20r
RRCALP18|RRCELEC82 RRC SER SO 3R d & Bl CHl EiCS] Xl 1 thisisa Invalid |There is factual difference between Hindi and
76 Wﬁwwﬁ%? momentum English translation but as per Exam guidelines if
formula but all difference arrises between english and Hindi, We
option are will consider English language.
RRCALP11[RRCELTR134 |RRCSER Which of the following  [CRT LCD LED Plasma 3 LED and LCD Invalid | Explanation: LED technology is widely used in modern
35 technologies is most both are used televisions due to its energy efficiency, better brightness,
commonly used in commonly in and thin design.Reference: "Electronic Devices and
modern televisions? television Circuits" by P. S. Bimbhra, Chapter 8.
RRCALP11|RRCELTR34 RRC SER 1 square canbea |Invalid |Square and Rectangle both has four sides but squre
35 rectangle have specific property that all equal sides. So square

ta St

comes inside the rectangle. But Hexagon has six
sides so it will separate.




RRCALPOO|RRCMECH97 |RRC SER SfdgaN 2024 ¥, TS8R QAR UGY |/ B2y Bihar recently Invalid https://www.thehindu.co
81 ﬁaﬁ@aﬁ%%& announce animal . ) . m/news/national/kerala/i
T 3 TR ¥ g insurance policy Minister for Amma} Husban.d-ry & Dairy nsurance-scheme-will-be-
ST T R B & Development J. Chinchurani inaugurated a implemented-for-all-
free insurance protection scheme for the cattle-in-the-state-j-
cattle of dairy farmers in the State provided | chinchurani/article687837
by Kerala Feeds. 54.ecet#t:~:text=Chinchura
RRCALPO3|RRCMECH140 (RRC SER What is the basic form of |A pressure  |Avalve with [A valve with |A valve that Hydraulic check |Invalid |A hydraulic check valve consists of a valve body and |https://rnsinstituteoftec
80 a hydraulic check valve? |regulator a ball poppet |adjustable controls valve is a a spring-biased ball poppet or cone poppet, apart hnology.org/wp-
valve or cone spring temperature pressure from inlet/outlet ports. The spring holds the poppet |content/uploads/2021/0
RRCALPO8|RRCMECH67 |RRC SER Had | Had Il IqUT NS [FARATS A A URAGdT  [invalid |Statement 1: It s the rate of change of distance.
54 a?r x Eb:f %m This statement is referring to speed, not velocity.
aﬁa % | Velocity is the rate of change of displacement,
which is a vector quantity. Distance is a scalar
quantity (only magnitude). Therefore, this
statement is incorrect when referring to velocitv
RRCALPO8|RRCMECH38  [RRC SER EEEi] EEi ki BREI THRRUA UG H [Invalid
54 /Udl % ?ﬁm Mill is the specific word used for cloth material but
HRET | T factory is general word for any manufacturing
%I material.
What is a Textile Mill?
[ y
susbletetie
RRCALP10{RRCMECH149 |RRC SER In face milling, which Workpiece  |Spindle Workpiece  [Cutting speed Option A should [Invalid |The cutter diameter should be chosen to adequately Workshop Technology Vol.
21 factor primarily material power width be cover the workpiece width for efficient material removal. |1l by Raghuwanshi, Chapter
RRCALPO6{RRCMECH110 |RRC SER R P G N RER dIdlec 9 IRHE E'I%CP‘MH Silicon carbide Invalid |cubic boron nitride is still, at best, just the world’s https://www.cam.ac.uk/r
51 Wuﬁrﬁﬁ?w %? Wi%g BIEMES] second hardest material with a Vickers hardness of |esearch/discussion/opini
around 50 GPa. on-harder-than-
diamond-have-scientists-
really-found-something-
tougher-than-natures-
invincible
RRCALPO6|RRCMECH167 |RRC SER e gumierdl  @el < EGd R MR Chen Invalid |When the distance between the shafts is large, belts |https://gpbalasore.org.in
51 @me or ropes are used and for intermediate distance /wp-
m%mﬁyﬁ@a chains can be used. content/uploads/2018/1
¥ B9 1 I 1/Theory-of-
Gtrtﬁﬂ%mm%? Machine_4th-Sem_Er.-
Geetanjali-Mardi_Mob-
it e e 7504563059.pdf
320 Belrs
RRCALPO6|RRCMECH172 |RRC SER ﬁ"}iﬁf@ﬁ AIPAI  |oHd (ST [Sid 9T | ¥l [9aT [JIeR [9aiT Sleeve bearing Invalid |Ball bearings are used in high-speed machinery due to https://www.automotive
51 TSR P fufar 3= their low friction and high precision. -
Wﬁ ?:n?ﬁ 'H'Qﬁ:lﬁ ﬁ Mechanical Engineering Design by J.E. Shigley, Chapter 5.|technology.com/articles/
RRCALPO6|RRCMECH130 [RRC SER PR P al HI HH |18 3R EEEIR Y 3R Wi 3R Frame and stock |Invalid |A T-square is made up of hard-quality wood. It https://soaneemrana.co
51 ﬁ%’ %Eﬁ ﬁrﬂ:ﬂ ET&'?‘ consists of two parts - the stock and the blade - m/onewebmedia/ENGIN
joined together at right angles to each other by EERING%20DRAWING%2
means of screws and pins. 0BY%20N.D%20BHATT.p
ENGINEERING DRAWING BY N.D BHATT. df
1k 1 BB 10 YR
i
RRCALPO6|RRCMECH174 |RRC SER T4 =T @1 REIREE: W Eal URUR® o Fg=or A Invalid |CNC machining uses computers to control machine |https://home.iitk.ac.in/~
51 me%? ﬁaera TN HRP |SUHN B | Tl tools such as lathes, mills, and grinders for efficient |nsinha/CNC.pdf
yrier &t Wﬁ:f_g"@l ﬁqera %\_ﬂg—'{m and automated manufacturing.




RRCALPO6{RRCMECH171 |RRC SER SHTS dh ff, DHEBRI |gdl BiGil C| 3?.: ST EACE] Nitrogen Invalid |Water is used as the working fluid in the Rankine cycle for |https://soaneemrana.co
51 WW_@T‘?{%? SIESICSIES) power generation. m/onewebmedia/Therm
Thermodynamics by P.K. Nag, Chapter 12. odynamics%20by%20PK
o %20Nag.pdf
RRCALPO6|RRCMECH162 |RRC SER qY-HUte aad Pl R-134a EEEEE] BIESIEE] A Invalid |R-134a is widely used as a refrigerant in vapour- https://www.daikin- https://www.aec.edu.in
51 yunferal 7 Fefafed 7 |s»siamss compression refrigeration systems due to its low solutions.com/resources |/aec/Instruction_Materi
J HH I YR environmental impact. /ck/files/Refrigerant%20 |al/UNIT%202%20R&AC
RRCALPO6|RRCMECH101 |RRC SER mﬁ@ EaEkl] a?«?r‘a'%na Ife-heg  |did UH @Tfffﬂn@'ﬂ B Invalid |A ball pein head is used to spread metal in all https://rnsinstituteoftec https://bskillforum.bhar
51 etﬁmﬁ:ﬁuw%?@ﬁ _a""htf'f[ E’th[ directions. This hammer has a semi-spherical pein | hnology.org/diesel- atskills.gov.in/DashBoa
Bt 3R Raey M UBR suitable for riveting. It is used for shaping the o. f dUpload/25AugYYY090
mech-e-learnin
Y g/
maﬂ%’q 9 ERl cylindrical end of a metal rivet to form a rivet head. 8SSHammer-1.pdf
g
Ball pein hammer (Fig. 8)
Aball pein head is used to spread metal in all directions.
This hammer has a semi-spherical pein suitable for
riveting. (Fig. 9)
Itis used for shaping the cylindrical end of a metal rivetto
form arivet head.
RRCALP10|RRCMECH153 [RRC SER FaffRad A d e [oRe mRA [Lid EaE] SHoplc More then Invalid ~ |wires without breaking while when we willapply tensile [ . [|https:;//www.isibang.ac.
53 UaTQfH’RI (SFTZd) HHT options correct force on other materials then it will break without RK Bg | Chanter 2. v in/~library/onlinerz/res
SIdl 82 _ _ elongaton then those are brittle. -0 Bansal, Lhapter & ources/Enghandbook.p
RRCALPO3|RRCMECH138 [RRC SER B 1 79 T HUER YT Dl 319 &1 99 [&iad &1 EsEal Compressor®  |Invalid |The relation between pressure and volume of a gas | https://rnsinstituteoftec
71 P TaTe | g 3R fam fam fam REINCE:] is given by Boyle's law. It states that: "At constant  [hnology.org/wp-
3 & o Y BT pressure 3R temperature, the volume of a given mass of gasis  |content/uploads/2021/0
quf dr %? volume inversely proportional to the absolute pressure. 7/Theory-1st-
I B chalr's Semester.pdf
law
Explain T T
Boyle's law
The relation between pressure and volume of a gas is
answer given by Boyle's law. It states that: "At constant
KEIcH temperalure, the volume of q !
BOARD & Orofestionc 1 fm tits peceian” LatY, 1 he vollans
§ R answer of a gas at pressure p1. When this gas is compressed to
9 7 o Jume V, then th ] ue of P,.
Storet ot ; ;‘l)h:rr“nzhc‘a :;:n the pressure will rise to a value of
TR |
RRCALPO3|RRCMECH122 [RRC SER Tiideie ol SHIR IR |3¥Td Tdfed TR [wiies diar 2fidcie el Invalid |Colant hoses https://rnsinstituteoftec
71 g uerf 3 &t B 87 SR W aiel Hose pipes hnology.org/wp-
H"ID[ a=ﬁ€ o % \_r?f It is made of synthetic rubber. content/uploads/2021/0
& A answer 7/Theory-2nd-
<1 § e s df
BOARD Hseppes
a,— ERI 3BT Hemateotsprucntter
answer Ridfe® o
R 2 o e
memprenmitioog
RRCALPO3[RRCMECH30 |RRCSER 51 79 108 ﬁqﬂﬁmw Invalid |Total number of students who reads books=
71 ek g 13+12+47+44=76.
3 tudents who plays sports other than reads books=
fopare uga a1 Stud ho pl her th ds book
T TEE PR 15+17=32.
Then number of students who like to read books or
EISASIUGS h ber of stud ho lik d book
g play sports are = 76+32 = 108.
‘ 44 BT TR S
. & T answer
" BOARD & §RT

DI answer




RRCALPO3|RRCMECH35 |RRC SER ﬁ%ﬂ PEIE] eI e 2 W‘;{’Hﬁ 3ifhd [invalid [Number of trees planted by NGO-A and NGO- B in
71 m T &R different states are-
i 3R WW Bihar = NGO-A + NGO-B = 100+60 = 160.
1 e foars Punjab = NGO-A + NGO-B = 120+80 = 200.
TW/We Haryana = NGO-A + NGO-B = 80+140 = 220.
- forg eRuT QSH Assam = NGO-A + NGO-B = 150+160 = 310.
b Y BT 5 Tl &1 Tamil Nadu = NGO-A + NGO-B = 140+180 = 320.

: T | Then the second lowest value among all is 200
which is related to Punjab. Then the correct answer
is Punjab.

RRCALPO3|RRCMECH74 |RRC SER FodfReada s A A= SfieTo SIeT dreg Pl 2 TAUY P HUF  |Invalid |Greenhouse gases are those gases in the Earth's

71 mﬁ?:ﬁﬁ%? séeﬁws‘s WE@W atmosphere that trap heat, contributing to the
R e ged greenhouse effect and global warming. The
ESPI T 684 common greenhouse gases include:

?P'ﬁ S 3 CHa (Methane): A potent greenhouse gas that traps
answerﬁ?’tﬂ % heat in the atmosphere.
e BOARD & H,0 vapour (Water vapour): It is also a significant
ERESEDE greenhouse gas, as it traps heat and plays a crucial
answer 572 1%&1 role in regulating the Earth's temperature.
W%Gﬁﬁ? CO; (Carbon dioxide): Another important
m aépf ke greenhouse gas that is a major contributor to global
?Fﬂl warming, especially due to human activities like
burning fossil fuels.
However, O, (Oxygen) is not a greenhouse gas
because it does not absorb or emit infrared
radiation in a way that would contribute to the
greenhouse effect. While oxveen is essential for life

RRCALP16(RRCELTR61  |RRC SER Had | Had Il G EIESTIE Weight is Invalid |1 It does not depend on the position or space.

15 depends on This statement is incorrect. Weight is the force
place. Because exerted by gravity on an object, and it depends on
formula of the gravitational field strength, which can vary
weight is w=mg depending on the position (e.g., weight is different
.and the value of on the surface of the Earth compared to the Moon
g changes or at different altitudes on Earth).
according to 1. It is a vector quantity.
location. Value of This statement is correct. Weight is indeed a vector
gatpoleis quantity because it has both magnitude and
greater then direction. The direction of weight is always towards
equator. the center of the gravitational body (e.g., towards

the Earth).
Therefore, the correct statement regarding weight

RRCALP15|RRCELEC48 RRC SER Had | Had Il BEENEEIEEIIE Only 1st Invalid |Conclusion I: This conclusion logically follows from

88 SR ST ST conclusion is right the statement. The teacher explicitly states that

WT% m% GGl % practicing mindfulness can help with focus and
stress reduction, which supports the idea that
mindfulness practices can indeed improve focus and
reduce stress.

Conclusion II: This conclusion can also be inferred
from the statement. By telling the students about
the benefits of mindfulness, it suggests that the
teacher is concerned about their well-being, as the
teacher is providing them with tools to manage
stress and imnrave facus

RRCALPO9|RRCMECH28 |RRC SER Both the The Either the Both the 1 Both statement |Invalid [Both the information given in the statement | and Il

46 e, information |information |information [information not sufficient are are necessary to give the answer and with these two

giveninthe |giveninthe |giveninthe |[giveninthe Contradict each statements we can calculate who got maximum
ket statement| [statementll |statement| |statements| other marks i.e A. Means A got the maximum marks. Then
and Il are is sufficient  |orinllis not |and Il are not the correct alternate is 1
il : sufficientto |to answer sufficient to |sufficient to

RRCALP18|RRCELEC18 RRC SER TP AATDR WIC DI |40 50 60 120 3 Missing Datain  |Invalid |Yes, One data is missing in hindi language but

49 mﬁaﬂﬁiﬁaﬁ@r 20 Hindi Language according to our given instruction and terms. The

ez 3ifds %I qﬁ wic final consideration will be english content and




RRCALP15|RRCELEC137 |RRCSER FoldReadd oAl [URWRS  [UfcRIY TRUT [¥d IR aukWRT 1 It is only A.C. Invalid
50 W?ﬂw%w WROT Works at D.C. But
ﬁ‘x’l’lﬁlﬁ%’ no.
::ta\:;t:jr:;.lson Workdrig/principla https://bharatskills.gov.in/
L The transformers work on the principle of mutual induction pdf/E_Books/Electrician_1
principle of of Faraday's law of electro - magenetic induction.
electromagnetic st_Year_(Volume_ll_of_II)_
induction. TT.pdf
This A.C. Does
not change the
power and
RRCALP15[RRCELEC135 |RRCSER RA-IBR B W Jieeo 3R |dRe w Had }U- 1 Transformer Invalid |Answer: Voltage and power transformers
50 54 UBR & CEwER | o < 39 TRIBTHR (Shell type o L
agw-ﬁ Fq% ". Transformer): b) :S:?;S/}'r::::ai:;ﬁ:g:‘:a: :z:nmthe rimal https://bharatskills.gov.in/
SUENT Y S &7 Shell type and me':econdarywhdings are vl:ound on mz samrz pdzE Books/EIectrigcian 1
section/limb of the core.These are widely used as
voltage and power transformers: (Fig 2 in chart 1) st_Year_(Volume_ll_of_Il)_
Ring type transformers: In this, the core is made up TT.pdf
In this type of
transformer,
RRCALP15|RRCELEC144 [RRC SER TP YdR YUITal |, Tohd DI dohd & dhd B Thd DI 2 What is the need |Invalid [Answer: b) Vary the amplitude of the signal
50 Q‘Fﬁ@gmﬁﬂ (AM) &nqﬁfﬁ ST B RO B é@ﬁsﬂﬁ for modulation in Explanation: In AM, the amplitude of the carrier
BT ITNT fpgH 1%1? CLNE] %1%111 EENE! 3'71%1? CLNE] %1%111 HH PR B communication signal is varied in proportion to the message signal,
[ERISIGIE %? 1%113 system? which is used for transmitting information.
Reference: "Communication Systems" by A. B.
Modulation is a Carlson, Chapter 7.
widely used
process in
communication
RRCALP15[RRCELEC105 |RRCSER WW%W QTﬁET YR & YRS Y [dieed Aid  [dlecHIeR & |2 To measure Invalid |Correct Answer: In series with the load
50 HI oy A P9 ISR |[qAMR mﬁ & IHFIR [T mf{ current, an Explanation: An ammeter is used to measure the
\_rﬁtf'fl IGI %? ammeter is electric current and must be connected in series
connected in with the load because current is the same at every
series in an pointin a series circuit.
electric circuit:
* Ammeterisa
device for
measuring
alactric currant
RRCALP15|RRCELEC168 |RRC SER PSSR AR ®I 390 Ud  |[39AAcR  |Ig [dedd  |dg $had 4 |3 Due to the Invalid |Answer: It operates on the principle of
50 muﬁwﬁ@rww%v @RW ﬁ%ﬂ@?ﬂ% ?grﬁ“rq afq relative velocity electromagnetic induction.Explanation: Induction
@?ﬂ% awn% Hﬂmﬁ between the motors operate on the principle of electromagnetic |https://www.campusco
ISR |IUGRT 8T % rotating stator induction, where the rotor is induced by the mponent.com/blogs/pos
BTH HAT % flux and the magnetic field created by the stator. t/all-about-induction-
rotor, the rotor motors-types-
rotates in the applications?srsltid=Afm
direction of the BOooXnhjOQNv_ENgD4iJ
stator flux to piHcDEwYpZalTeyGhRIB
minimize the dX6CIXW70giKm
relative velocity.
This is the basic
RRCALP18|RRCELEC152 |RRCSER el Al aRE (Fv) |Hex R [de Rwe  [dex Rwa [fldu g 3 EREEEICIS] Invalid  |Answer: ) The frequency of the message https://www.sciencedire
10 ﬁ,arﬁf@wraaﬂ FIAHF | IO & ﬁm% fori dq HTS?@:TW signal.Explanation: In Frequency Modulation (FM), |ct.com/topics/computer-
G{Tfiﬁl k3 SR SR SR SR EIEE | S & SIUR the frequency of the carrier signal is varied in science/frequency-
qﬁaﬁa?ra?% q&aﬁaaﬁ?ﬁ% proportion to the frequency of the message signal. _[modulation
RRCALP18|RRCELEC113 [RRCSER Dcs (fadfa Faam d gel- ERE MR [A=Tmis |2 Option2or4  |Invalid Answer: They are state-based.
10 yueh) & o foRwar |Sefea €1 |snuRa®i |[Wer  [uRada @ dono ho skta h i !
R ITTHE |SeR Conversely, DCS systems are process contol systems that are stae based and consider the
%| gfpar Ha process ariale's present and past ats o be b at riteia drving the DCS,. PLC prolocols

gl

e genenll regster scanning bosed, with no specfi change of stale procesing provided.




RRCALP18|RRCELEC123 [RRC SER TRITd vomelt § AThoRC dI [JMTholke Bl  |IShoRe dl |URiad ®IF |4 Option 2 is Invalid |Answer: absorb heat from the refrigerated space .
10 BRI BT Tifea TuFd PR |TIRd 3 |§ ST correct
W $rzf Bl %? m a'; m % %Q % m &mﬁa ﬁ FIRUTE 1.0 A VAPUUT OMPTESSION KEITIZErauvn system
Evaporator
Heatis geined by e refrigerant i the evaporator, The product s cooled.
The amountof heat st by the product s clled reffigerasion effect ().
Thisrefrigerating effect s used to define the capacity of the refigerating
system.
RRCALP18|RRCELEC118 |RRCSER SERNUT YT yomeit TP AT NH: TF 1R NH; Shpaite fig FIYU UHATH  [invalid | Answer: A strong NH3 solution
10 § sagive A gy | WA N AT L ] i 3R 7.6 ABSORPTION SYSTEM
ufha1 3 uRumTREEY S
T IAT @HT %‘g I m % The first machine of this type was built in 1839. The system employed an
ammonia/water solution. Another mixture of lithium bromide and water is also
being employed now. NHy/water absorption refrigerant system is successfully
used in small refrigerators and chillers.
The system consists of an absorber A in which dry NH; vapour and weak NH;
solution in water mix to produce strong NH; solution.
RRCALP19|RRCELEC155 |RRCSER R-22 R-134a R-410A 4 Google search ® |Invalid |Answer: R-410A I ion: R-410Ais a ly https://en.arefsogutma.c
94 a{gﬂﬁ - used refrigerant in modern air conditioning systems due om/blog-detay/r-410a-
R22 3R to its efficiency and environmentally friendly properties. refrigerant-properties-
el %/ and-applications
RRCALPO3[RRCMECH32  [RRC SER pad sy [qral grn [[dieiRA |3 In this Invalid | This is the question related to logical reasoning. In
51 11 S{TER0T SR g SR question,Answer this question Statement is Lawyers married with
m% W% W% of this question only fair girls and shobha is fair. But Due to this
is taken wrong by statement we can not justify surely that Shobha
railway of married to layer or not.
options Then it may be possible that Shobha married to
C but correct lawyer or not. So alternative 3 is the correct answer
answer of this
question is
RRCALPO3|RRCMECH22 [RRC SER T 1Od1 9T 39S g3 |13:21 21:13 17:21 23:27 2 In this question, [Invalid |When we will solve this question then we will found
51 P gdHH 3T BT any Answer of this that we gets the age of father after seven years will
88 Hﬁ%l ?ﬁﬁ:ﬂ:f @ 8 Hﬁf question is taken be 63 years and and age of son after seven years will
REcal ST PHRT: 2 : by railway option be 39. then the ratio between age will be 21:13. so
1% SUTd o ot A which is wrong, alternative 2 will be the correct answer.
A ¥ 7 U Correct answer
ﬁmawqaaﬁangaﬂ of this question
SPHRI: SFUTd T gRTI? is Option C.










